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Fractions as division @

Complete each division.
5+:2=2 remainder[]j

-- 5+2=2C%
b) 8+3=@remainder@
8%3:@

h of wood into three equal planks. How long

A carpenter cuts each lengt

is each plank?
a) 14 m
' ' e
] we- (BT

BT

'b) 24|m
L 3 2 ! __8: J 24+3=m

e' Richard
has a 250 g bar of chocolate. He shares it equally b

HOW
man
y grams of chocolate does each person receive?

9 Y
;@
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Unit 8: Fractions (1), Lesson 8

0 %-5-1

Use this division fact to h

a) 97 + 8 = 12 remainder @ =2

elp complete these divisio

n statements,

@ d) l02+8=@

8

%

e=»r
b) q8+8=|2‘=|2@ e) +8=248l
B 02:3= llr 6 g
9 100+8-(T] ) o 4) | > b ng
[ _2,J (A g
|0y T zr-Jaol’Z
e Complete the table.
Division with remainder Mixed number Improper ffOCti?
: : I—orl b o e
6 + 4 = | remainder 2 - 4
L 3
I8+4=remoinder L&-——L-; oY li _\T_—\:mgz_
20259 =t vemarnder 2. |5 2
= - 3 | 2.6 —
5= b emunder | |55 2
B%I\O:Bwﬂlﬂdﬁf% 5% @Ci 5_80r
ot | 0k 5
64 s
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Unit 8: Fractions (1), Lesson 3} a

Iwill solve 17 = 8 as

8
e a an improper fraction.

20+6= 3 10“{‘3 \/ :

() (2) 3
. 5

@l 5776=@fﬂ'/z\

c) %

@e% 365 + 7 i]

‘Reflect

Complete the division, showing the rg:Lmoinder in three different ways.
I50+4=7 Lﬂ\\‘g‘o
¢ 50-%= Blrld.
. e )
PR S0 k= 3150 I
@ NG s

/\/W

\ -ﬂQ___,__; Rl :
DeCouse T /8 4




